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open the question booklet

1.Aseparate OMR Answer Sheetis supplied for writing
the answers. Writedown your application from no. &
11 digit roll number on it as per your Admission Card
and dafken the appropriate circles on the answer
sheet.

2.Check thatset code (A,B,C orD)is printed on the
booklet and indicate your set code by blackening
the appropriate circle inthe OMR answer sheet.

3. Do not write anything in thisBookiet except the Rol
No. However you can use the blank pages provided
for the roughwork atthe end of this booklet,

4. Start answering when you are told to do so. Do nat
turn the pages before that.

S. Answer all the questions.Each question has four
probable answers of which one is corect. You have to
choose the correct one and blacken your choiceinthe
OMR answer sheet by a black/blue ball point pen.

- Use of pencil is not allowed. If your choice is second
response then answer like this,

8GO0

6. For wrong answer, there is no deduction of marks,
One mark shall be awarded for each correct

response.
7. No. Mark will be awarded for a question if a
candidate darkens more than one choice,

8. Retum the Answer Sheet only to the invigilator as
soon as the final bell rings. Asktoranolheraoolde!im
is defective, before you start answering.

9. English version of the queslion paper will be
considered as final ‘if any dispute arises in the
translated version.
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. 4.

" isthefirst day of the month of March ?

If Republic day was celebrated in 1996 on
Friday, on which day in 2000-Independence
day was celebrated?

A. Tuesday

B. Monday

C. Sunday '
D. Saturday .

In a leap year 1st January is:muny,‘ﬂlén avhat'.

A. Tuesday

B. Wedn&day

C. Thursday

D. Friday.

Fin.d.themissingtermintheseﬂes 3.:.
" 2A11,4D13,12G17, ”

A 36121

B.. 4821

C. 48123

D. 36A19

What will be the angle between hour hand and
minute hand, if clock shows 8:30 p.m.?”

A. 90 ‘
B. 75"
c. 60’
D. ss°’-

The sum of the ages of § children born at the
intervals of 3 year each is 50 year. What is the

age of the youngest child?
A. 4 ).fear

B. 8year

C. 10year

D,

None of these

~C. 60

’

o 1996 A2l eaes 80a gaIR 27 ARE
SAUIRYR, CISLEH, 2000A321 RIS Teq

6Q6Q TIRA FUARYS ?
A. ARG

B. 6JFRIR

c. odem

D. PR,

st eRjeath QipRIal 1 SR -Of gavIa”
8p 6, ol6esMm, FASAITN. gaa  Gaty
cREIQIN6Re ? '
A. - AR

B. QRKIQ . ,
C. oReR

D. €3

SRIGIR gRanal
2A11,4D13,12G17%;___-

A 36321 |

Bl 481

C 48v2

Do 368:49° .

% OQ 8:30 p.am.» 60N, CIELEM AURH B
PG QQI FRISAEREO QU620 ?

0

A. 9

Bz 75°

D: 85° ‘ :
go 6hed QueuIRea af 621RYQI 5 & GRIea
eaaa and 50 od1 9Q0Iq AR GRIe @Al

6Q6e ?

A. 4ed
B. 8ed
c. 10ed
D

caleRpRsel
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6. Given that:
i AhmeWolB
| ii. Cisthefatherof A
iik. D is thebrother ofE
iv. E is the daughterofB
Then, uncleolDis
A vy
B
- C

O 0o ® >

E

7. The posifions of how mamy digts
sumber ‘S314687’ will remeia
after the digits are rearranged in
order within the muaiber? ‘

A. None
B. One
C. Two
D. ' Three

(Q.8-10) : In each question find out the

8.

fuQIRE et

L ABARR

i, CAaN

W DE|RR

. Epaly :
:?xéésépangm?

A

.....

oumbers andietters .
7'
8. ?
49
A
4
A. Yand40
B. Uand36
C. Wand64
D. XandSt

P ——

Y BG40
LEALLL
W Gs4

A,
B.
. C
D.

X881
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10.

11.°

A.

&

A.
B.

C.

D,

IfCAT=12, thén MAN=?

A.

B
C.
D

A. JB80
Jand 80
B. 0883
Oand83 )
.. Nand74 JW_C. NG74
Pand 85 D. PG385

18,34 A. 18,34
14,21 . B. 14,21
56,54 P- C. 56,84
P s D. 12,18

11. S8 CAT=12,01686MMAN=?

14 A. 14
24 B. -24
' c. 16 )
15 "D. 15

5) SMS - 2017-18 -A



12. If ‘FLARE’is coded s 21, 15, 26, 9, 22, then 12, - €@ ‘FLARE’21, 15, 26, 9, 22, 08 6016, 8\,
how. would* “BREIF’ be coded in the same . OI26M YRIRUGISR ‘BREIF QAR 6QI6,
language? . ' eaude ?

A, 25,9,22,21,18 A 25,9,22,21,18
B. 5,37,14,19,13 ' B. 5,37,11,19,13
C. 13,19,11,37,5 C. 13,19,11,37,5
D. 259,22,18,21 D. 25,9,22,18,21

13. If In a certain code MOTHER is coded s | 13 90 60104708 5650 ‘MOTHER' NPUEFS

NPUIFS, then ZENITH will be coded as 00 6010, ¢, GIERSR ZENITH Q0R 648,
6297
A. AFOGHJ
. A. AFOGHJ

B BGPKVI < ‘B. BGPKVI
C. AFOUY C. AFOUL
5 AFOGHI. B ' D. AFOGHI ..

cee | (Qu4-16) RedeeR: A oqmadvaalemaaw

. TR | ‘10 580 0¢ FaaIeR e agen G0 TuwgEa
(Q.14-16) Directions : It s an arrow disgram N Of 68QR FRIER YA QROIQ 200A *Bw el

travel network from A tel. 'l‘hennmﬁerhlongside&& e0QIQ T8YRl ANA] (AER) P56 asal W

arrows indicate the time it takes in hours to cover he
o e K0X]
distance between .two stations. Smﬁr the diag 9 a\qqquea

and answer the follomg questions.

(s.lc'

14. Which is the shortest path one can u!}e to 14 ‘A%.0Q T s enel eﬁm ala esqsea

.travel fromAtel? _ } Wﬂggﬁ@ ?

A. ACEHI IR -

5 ACHGH | . A. ACEHI . .
C. ACDGHI - N B. Aﬁ

D. ABEHI : g' ax

e .. SMS - 2017-18-A



15. ApersontravelstolviaA,C,D,F, Gand Hand

returns via H, E, B and back to A. How many

hours has he travelled?

A. 29hrs

B. 3lhrs

C. 28hss .
ﬁ 32hrs

16. If critical path is defined as the path which 16.

- 4akesthe ldngest time, then which is the-critical

- path betweenAtoI?
A, ABEHI
'B. ACFGHI '
C. ACDGHI
D

) (Q.l7-21)i)ﬁecﬂons: Analyse the given data agél
answer the following questions.

If A=B, B=C]

ACDFGHI

C=D} p=E* E=A}

Aqd A+BzE then

17. B+9-+9- isequalto
: 22

A.

B.

¢

D.

2
4
1
312

18.

18. Thevalueof A+E’is

A.

B
C.
D

amultiple of 2 greater than four
amultiple of 3
aprime number

anumber greatex" than 10

1Y)

15.

@EEUS A, C,D, F, GG H N 601 § £
@6Q ¥e* H, E, B fRII 60R A § 6T6Q | 69
6060 A QIgIaR28 1

A, 29981
B. 31ael
C. 28wl
D. 3294

07 9R0IQ RAI AFIS 6ARYSI AIFT] TR &
6QIR F6ROR! RAISIN 666 A 81 FRISR QTR
Qe dveee?

A. ABEHI

'B. ACFGHI
C. ACDGHI

D. ACDFGHI™

(Q.17-21)F606I0R: FATIQYR! 6 §E] e
eﬁes@sgqq?ea aeaddl

e l.,

ﬂQA'B..,B"Qm.C =D} p=g? E-A} w@*

PO ,"n‘l

A+BeE 2, 61626R

v 3

17. B+—-+— QIR AR AAIR 68 ?

A 2

B. 4

c 1

D. 32
AHE'QFRIGREE RS ?

A, 29986@,496949
B.vaaqﬂea
C.  WeEARQITM

D. 10Qe9TM
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19. Which of the foliowing is a multiple of 5?

19. Rerrigeect sagaonl

A. TCH3E - .
: . A 1C%E
B.. 2D°+6A
; B. '2D'+6A’
C. - 2E+A+8B , :
C. 2E+A33B
D. A+2B+C ¥
: A D. A#2B+6C
' 92 -
20. Which ofthe followingis the velue ofA? 2. FFRBAKIRY SR80 ?
A. B N :
A. B
1
5o F 6 . B. E°.
g o
c. D C D™
D. C
_ D. C
Q. (21-23): In each of these guestion a sexiesis 99 (21-23): TR TG 60 40 Hod Tecac e
ghven in which ewe Rgure bs sleting; Find the TSR SR mmﬁle&d@@qﬁb@m
enissing figure tifiee-
fmq?m &%) FRIQ Q8L cver Flgum (m e&;

al©®] 2 | A

24, }
. o FE
A 1
B. 2
C. 3
D. 4
Problem Figure (gq 89)
v o X g
1 W ‘7 10
22. oIxd
1 B. 2
C 3 D. 4

g

2)

1 2
A i
B. 2
, C. 3
D. 4
Answer Figure (02 6%) .
0O
X X X {0
B2 Hx ¥
1 2 3 4
: .
A1 B. 2
- c. 3 .

SIS - 2017-18 -A
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Problem Figure (gq 85) ) Answer Figure (eae 88)

R R R

A 1 2 3 4
B. 2 Al
c. 3 B. 2
D. 4 c. 3
. _ _ . D. 4 |
Q. @4-27): In each of these questions, identify the gi§] (24-27): 6049 2§ 50 5eg AR ARG 659]
odd one from the given choice. . ‘ 5%6‘ eal
u..-’.i‘-'. Hard; Soft * ‘A, Hard:Soft
B. Long:High. T B. Long:High
- G Swo#:Sour C. Sweet:So.ur -
D. Pointed:Blunt D. Poipted:Blun
2. ' g, ‘
A, 8314 o AT e
B. 2709 ' B. 2709
c. 1315 - c.’ 1315
D. 2518 ' D. 2518
" 2. ' N 2. .
A T,7,3,17 A L1317
B 61,713,5 B. 67,71,3,5
C. . 41,5,3,47 C. 41,5347
D. 37,14,19,7 D. 37,14,19,7
2. 2
" A DXCLQZ - A. DXCLQZ
B PFZUBM B. PFZUBM
C.  XGKNTY €. XGKNTY
. D. NWMBHI D. NWMBH

(9) SMS - 2017-18 :A



28-

‘29"

30.

Ia the sequence of numbers

5,8, 13,x, 34, 55, 89 the value of x i

A. 20
B. 21 I
c. 23
D. 29

Find the missing term in the series- ' ‘

3. 2, 7 2_ ?
.74=, 4'—4J-4-' "6’ 4
12
A =<

16/4
1
B. _16»/4_
, 14
C. '16/4
15°
D. 1648

In the following number series, a aumber

wrong. Find the thatngmber;
2,3,10,40,172,885,5346 .

A 3

B. 885

C. 40

D. 1712

fs

28 GUAIQUSITUUGAA A FRIERES ?

5,8,13,%,34,55,89
A 20
B 21
c. 23
D. 29

ﬁamwmm@gml'

o ,2 9
f ‘ 4J_ v a.
i2
A. e
~ 164
B i '
16/
14
el C “F‘
L8] )
Wil - is .
D. . -]6\{-4-
g e QASR eait e ol QR 2R el -
g eial
2,3,10,40,172,885,5346
A 3
B. 885
C. - 40

D. 172

Q0 NS - 2017-18 A



31

32..

33.

34,

Find out the missing term in the following

series W-144, 7, S-100, Q-81, O-64
A, V-121
B. U-122
C. V-128
D. U-i21

In the given series of letters a definite rule is
followed. Determine the next ttwo.lletters

following the correct order

AJTKTUBILSVCHMRWDGNQXEFO??

A YZ
B. PY.
C. ZA
D. PZ

If P+Q is ‘P’ is the husband of ‘Q’
P+Q means ‘P’ is the sister of ‘Q’ and
P x Q means ‘P’ is the son of ‘_Q’,which of the
following shows ‘A’ is the daughterof ‘B’?

A. CxB+A
B." B+CxA
C. DxB+C+A

D. AsD x‘B.

‘P’ walks 10 meters in front and 10 meters to
the right. Then, every time turning to his left he
walks 5, 15 and 15 meters respectively. How far
is he now from his starting point?

A. 2meter
B. 4meter
C. Smeter
D Sméter

3L

32.

fir) Qiadmea 28aIYe aedg QIRINea |
W-144, ?, $-100, Q-81, O-64

A. V-12]
B. U-122
C. V-128
D. U-121

f¢] 280 ARAER 6aIE A Fan 20a06
FUAIRE | OR aF ARAE 68 0808l 2af
ATOQFRERA?

. AJKTUBILSVCHMRWDGNQXEFO??

33.

34,

(1)

A YZ
B. PY
C. ZA
D. Pz

a8, P+Q, ‘P’ ‘Q'Q A 6QIM QI
P+Q , P’ ‘Q'Q QA& 6QIR QYN e
P x Q, ‘P’ ‘Q’, Q g8 6QIM QKIN, 6669 FF)

| FRIGEREE ‘A’ ‘B’ QAN QXIAR?

CxB+A

A
B. ' B+CxA“Yf
C

D x B+C+A
D. A+DxB

P’ GG 10 FiFR SIRAI 49 Q1216 10 AR
oMMl | olgsa gfua 6 QIn alg]

 QR0ISO6R Q2IGEA 5, 15 6 15 FCQ SIARI

QEFIR 01N KA QAYR! GIRG 6 6REE
RER AR | ' ‘

A. 2fi6Q
B. 4A6Q
C. sfieQ
D. S5feq

SMS - 2017-18 -A



" 35,

Peotato, tomato and vegetable can be
represented by a pattern. Find the best one

o0 w>
h O o

|
|

36. Studythefonowlngﬁgureandﬂndﬂle /|36, : ) BOQZRUR @, 9295,8 Gon soage

gradnnteandpeonbutnotsatisﬁed . w -“-‘f .

area which represents the persom who are. .,

3s.

21 , SAI6e| @ afiel a O arleaed Gal
Qise Pea AR R !

(12)

85 2GS IS FEaEe Gl FOURR CoaYR!
- aEetq ek eal
-+ i} —Not satisfied (282 KNS ).
l 1
Peon (82) ‘
Graduate (QIg96)
A b
B. e
c f
D. a
SMS - 2017-18 -A



37.. In a telephone directory, which among the 37.  6oIEN 66B6TIR FedEIORER ﬁ‘f;] oI ﬂﬂé_

following names will appear in the middle?

6066 OR ARsa age|
Sajewat, Segvan, Sajevar, Sajewet, Salwar .
] ’ egv ’ ? Sajewat, Segvan, Sajevar, Sajéwet, Salwar
A. Sajewat . g
A. Sajewat
B. Segvan
: ) B. Segvan
C. Sajevar C. Sajevar
D. Sajewet D. .Sajewet

38.

39.

40.

Select the series. in whick lefters are not 44
according toa general rule;

A. CEGIKM
B. MORTVX
C. PRIVXZ
D. ZBDFHJ

In the diagram, the number of those candidates 39
is given who passed in physics, Chemistry and
English. Total number of -candidates who
apeared for the examinationwas 600, Find the
percentage of Candidates who passed in at
lesist two subjects. *

A 125
B. 125
C. 1205
D. 12

Rsahul ranked ninth from the top and thirty 40.

eighth from the bottom in a class. How many
students are there in the class?

A 45
B. 46
c. 47
D. 48

(13)

<@ QRIRE FAA ZRAEA-RYS! 280 AT
Qel

A. CEGIKM

B. MORTVX

C. PRTVXZ

D. ZBDFHI

Sofsq aeld F8R, QAR FRIF ©°
eraien asd siagel Gitineea oy -
GRS | Oa1S 60aYQIANS GIdiee ae
600 2868 gRF Faacn aald cRYRI
gleacugiactaeizinea?

A. 125

B. 125

C. 1205

D. 12 _
66154 6EIEIER QIEM QA0 2UE, A B ORAUE,
38061 QUIPER OEAI| 6EENER AFRIA 6QEE

g10RIe1288 ?
A. 45
B. 46
c. 7
D. 48

SMS - 2017-18 -A



41. . Who are the illiterate females who do not leave | 41, QIFI6Q @I QPR oafe fERiea Yy

_ inthevillage? cRIOea?
3 1o\ 7 ' |
: () Village Residents Females
12 6. |8 (gF6Q Q1A QYR FERI)
‘ 4 ' A THiterate W;sm (gaaﬁe;ﬁm)
a N ¥ [] swcadord

A. 4 ,
A. 4
B. i1
B. - 11
C. 5§
. C. 5
D. 9
D. 9

’, )

42, If1.12.91 is the first Sunday then which is the 2. of e g m 291 ‘G‘Q ase 698¢

fourth Tuesday of D ber 1991? a - P .
y of December fsara 199 PRERegdATRARsEt sRel
A, 171291 _
A 171281
B. 241291 . ’
' ' ; B. 24.1291
G 261291 E | :
. C. 261291
D. 311294
D. 311281

43. Thereare fivebooksA;B,C,DandE.Thebook 43.. A,B,C, DG E QEf oRi ‘¢’ 028 ‘D’ a@eR
" Clies above D. The book E is below A, Dis’ 281’ Q8 ‘A’ 28, D A’ Q60 26 B
above A, Bisbelow E. Which isat thebottom ' :

B E ocREBIaSPgencaceRt 2a ?

A E

B. B | A. E

C. A ; B. B

- 4 C. A
' D. C

" (34) S5 - 2017-18 -A



44. 1Ina chess tournament each of six players will 44, 6QIGY 60Q YOCLITPIER LA SHRIRIEP
play every other player exactly once. How

MYE gseyR aala A OQ Use 6HRER!
many matches will be played during the :

goeandel Amuiea QeI 66RIE AYE,

tournament ?
A 12 sHRIGe
B 15 A. 12
Lt B.
C. 30 ’ 15
D 36 C. 30
D. 36
45. At a party, there sire 43 ‘persons in all. The 45. 6QI0N Gf6q QRIS 4306 288 AERie
number of woman is two more than man but U gREe Tai A6 2 2R 75 dae
the number of children is 4 less than men. How Qe geaer aEiol] 4 A1 6Q0IER
- manywomen are there? _ , 6R60RE FRAI2ARE ?
A 11 A 1
B. 13 EE . B. 13
c. 17 - ' C. 1
D. 15 | D. 15
o ' ' ) @547y Q80RO 66 TeR AIRE M
Q. (46-47): In each question, find the water-image of '9‘]( ) ?, a9 ) | ®
the Figure (X) from the given choice Sga o g @ o '
46.
X)
A 1 1 2 3 4
B. 2 A- l
C. 3 B. 2
D. 4 . C. 3
: D 4

e (18) SMS<2017-18 -A



47. .

48.

X)-
e. # e 4 ‘.u@.,.f.:.
X Al-lA- x| | x B
i 2 3 '
A 1
A 1
B. 2
B. 2 '
c. 3
c. 3
‘D. 4
D. - 4

Find the number of triangles in the disgram

given below .

A R

B. 31
C. 30 f
D. 29 g

B. 131
C. 3

NS - 2017-18-A



(Q.49-50)Directions

information carefully to answer the questions.

49.

A cube is coloured red on all of its faces. It is
then cut into 64 smaller cubes of equal size. The

A&maller cubes, so obtained are now sepiated.

How many smaller cubes will have at.Jeast two

" surfacespainted-with red colour-?
A 4 |
B. 18
.C. 32
D. 24

. 50. How many smaller cubes have two surfaces &g,

painted with red colour?
A 24

By

— sk —

(7

: Read the following (Q49-50) R6GeIeR: UgIFeR AER cow TIEt Fe)

MIPR ACLIRARARN

6Oty are ara aif AR acea 66
QRIGRI | ISR 617 648 QALIR ARIRER 6816
6816 48R &I Zna aNERI|

6QI6EIT SRIC ARG 2308 2AF TIY AR QTSR

R0 eaiaRl?
A 4

B. 18

C. 32

D. 24 : :
SRE6IE eRIT ISR RRE TiY AR actsa 93¢
eaiam ?

A 24
B. 8

C. 12
D. 20

SMS - 2017-18 -A



